M*.*

COMPOSITE DRILL 0L

SEa%IM],

TBOARD INSERT

&

—

CHUCOAS BiliE

MODULAR COMPOSITE DRILL MODULE HEAD / COMPOSITE DRILL ACCESSORIES

RIRWE SRR/ B S EBCHF

OC

30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
hé
47
48
49
50
a1
b2
53
B4
59
o6
27
58
29
&0
61
62
&3
64
65
66
&7
&8
&9
70

RS
ITEN NO.

SMO7-4PA
SMO9-4PA
SM11-4PA

SM14-4PA

1.8

5.7

11.4

14.2

it T BB E]
CENTRAL INSERT SCREW
HLAE iTBS
SPEL. ITEN NO.
M2.5*15 2102206
M2.5*15 2102206
M3*17 2102207
M2.5*15 2102206
M2.5*15 2102206
M2.5%15 2102206
M3*17 2102207
M2.5*15 2102206
M2.5%15 2102206
M3*17 2102207
M3*17 2102207
M3*17 2102207
M3*20 2102208
M3*20 2102208
M3*20 2102208
M3.5*22 2102209
M3*17 2102207
M3*17 2102207
M3.5*22 2102209
M3.5*22 2102209
M3.5%22 2102209
M3.5*22 2102209
M3.5*24 2102210
M3.5%24 2102210
M4&*26 2102211
M4*26 2102211
M3.5%22 2102209
M3.5*22 2102209
M3.5*22 2102209
M3.5%22 2102209
M3.5*22 2102209
M3*17 2102207
M3*17 2102207
M3*20 2102208
M3*20 2102208
M3*20 2102208
M3.5*22 2102209
M3.5*22 2102209
M3.5%24 2102210
M3.5* 24 2102210
M4&*26 2102211

4.3

4.8

5.2

SIZE

RE

0.8

0.8

0.8

1.2

RLTIHIRF
CENTRAL INSERT WRENCH
AnS Ji5S
SPEL. ITEN ND.
7IP 2502036
7IP 2502036
AP 2502037
7IP 2502036
71P 2502036
71P 2502036
Q1P 2502037
7IP 2502036
71P 2502036
1P 2502037
AP 2502037
9IP 2502037
NP 2502037
AP 2502037
AP 2502037
101P 2502038
AP 2502037
AP 2502037
10IP 2502038
101P 2502038
101P 2502038
10IP 2502038
10IP 2602038
101P 2502038
15IP 2502061
15IP 2502061
101P 2502038
101P 2502038
101P 2502038
101P 2502038
101P 2502038
AP 2502037
AP 2502037
9P 2602037
AP 2502037
AP 2502037
101P 2502038
10IP 2502038
101P 2502038
101P 2502038
15IP 2502020

B AT BT
COMPOSITE DRILL OUTBOARD INSERT SCREW
FLAE ES HE
SPEC. ITEN NO. QUANTITY
M2.5 2102257 i
M2.5 2102257 2
M2.5 2102257 2
M3.5 2102274 2
M3.5 2102274 2
M3.5 2102274 1
M3.5 2102274 i
M4 2102275 2
M4 2102275 2
M4 2102275 2
M4 2102275 2
Mé 2102275 s
M4 2102275 2
M4 2102275 2
M4 2102275 Z
M4 2102275 2
M5 2102276 2
M5 2102276 2
M5 2102276 2
M5 2102276 2
M5 2102276 i
M5 2102276 2
M5 2102276 2
M5 2102276 2
M5 2102276 2
M5 2102276 i
M3.5 2102274 b
M3.5 2102274 b
M3.5 2102274 b
M3.5 2102274 b
M3.5 2102274 b
M4 2102275 b
M4 2102275 b
M4 2102275 b
M4 2102275 b
M4 2102275 b
M4 2102275 b
M4 2102275 b
M4 2102275 b
M4 2102275 b
M4 2102275 b

d1

2.9

4.1

4.5

5.8

E{I[Unit): mm
B AT IR T
COMPOSITE DRILL OUTBOARD INSERT WRENCH
ks iTiES
SPEC. ITEN NO.
71P 2502034
7P 2502036
7P 2502036
101P 2502038
101P 2502038
101P 2502038
101P 2502038
151P 25020561
151P 2502061
151P 25020461
15IP 2502061
151P 25020561
15IP 25020461
151P 25020561
151P 25020561
151P 2502061
201P 2502062
201P 2502062
201P 2502062
201P 2502062
201P 2002062
201P 2002062
201P 2502062
201P 2502062
201P 2502062
201P 2502062
101P 2502038
101P 2502038
10IP 2502038
10IP 2502038
101P 2502038
15IP 25020461
151P 2902081
151P 2502061
15IP 2502061
15IP 2502041
151P 25020561
15IP 25020461
151P 2502041
151P 25020561
15IP 25020461

P16

PP

\
.
-]

Ci




